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Adding Money

Adding Money

7a. Add two amounts together to make a
fotal less than £13.

7b. Add two amounts fogether fo make a
fotal more than £17.
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Find at least four pos:

b2 ¢

Find at leastfour pos:

8a. Hugo has made £15 and 15p below
by adding two amounts of money
together.

8b. Jasmine has made £18 and 73p
below by adding two amounts of money
lngelhev

uz and 74p + 579p = £18 and up

[ 1used 16 coins and
2notes.

find another way he could make £15 and

15p by adding fwo amount: fogether,

using an even amount of coins between
10 and 20 and an odd amount of nofes.

" | '

Find another way she could make £18
and 73p by adding two amounts
together, using five fimes as many coins
as nofes.

9a. Xander has used this bar model fo
represent an addition.

b. Zoe has used this bar model fo
represent an addition.

Eight £1 coins Three 1p coins
seven 1p ¢ o 2p ¢
Fifteen 20p coins Eight £2 coins
£3 and 73p 754p £12 and é4p 398p.

He thinks he has lost three coins which all
have the same value.
Do you agree? Explain your reasoning.

#

she thinks she has lost a coin with an
even value and a coin with an odd valve.
Do you agree? Explain your reasoning.
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Adding Money

9. Complefe the addition represented
on this number line.

7b. Complete the addition represented
on this number line.
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10a. Belinda says,

10b. Connor says,

g \

J have 776p in my purse.

Her friend gives her £4 and sép more.
How much does she have altogether?

=

His friend gives him £5 and 87p more.
How much does he have altogether?

b

11a. Find the total amount of money in
these two purses.

11b. Find the tofal amount of money in
these two purses.

[ mser N\ [ mmez pet: (e
T 10p cains Eont2pcoins ||| Twenty-two 1p coins ix 20p coins
TwoIpcoms |4 Two2coins Tntee 10p coins | 4| Nineteen 5p coins
five 50p coins Gne 1p coin Two 5p coins One £10 nate
Two £5 notes Three 20p coins | || seventeen 2o coins Gne £1 coin
| rowaopcoms | | Oneflcan Seven 50p coins Theee 50p cains
J \ \ J \

Show your calculation.

b2

Show your calculation.

b2

12a. Complete these additions.

12b. Complete these additions.

Eight 5p coins Nine 1p coins
A. | Three 50p coins | + | Seven50p coins [ A. | £9and28p |+ 763p.
One £10 note One 20p coin
Twelve 5p coins
£and3sp |+ 563p B. | Six2pcoins |+
Two £2 coins Four 50p coins
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